


2” x 4” Uprights Fixed into the wall,
using M12 Threaded rods, 2 per upright.
Chem. Fixed 100mm deep 
and with a washer and nut.



3” x 2” Horrizontal rails will be
screwed to the uprights, using
6 x 100mm Wood Screws



The 9mm W.B.P Ply will be secured
to the horrizontal rails using 6 x 75mm
Wood Screws, along the rails. 
9 Screws will be used to secure each panel



Frame moldings 70 x 20mm 5th grade
Red Wood will be secured using 6 x 75mm
screws, these will be countersunk in & then
filled with Ronseal High Performance Wood Filler



1016mm

1
5
2
4
m

m

1
6
6
4
m

m

1156mm

3048mm

1
5
2
4
m

m

1
6
6
4
m

m

3188mm

4064mm

1
5
2
4
m

m

1
6
6
4
m

m

4204mm

2032mm

1
5
2
4
m

m

1
6
6
4
m

m

2172mm

5080mm

1
5
2
4
m

m

1
6
6
4
m

m

5220mm

6096mm

1
5
2
4
m

m

1
6
6
4
m

m

6236mm

One Panel Frame

Overall: 1156 x 1664mm

Visual: 1016 x 1524mm

Two Panel Frame

Overall: 2172 x 1664mm

Visual: 2032 x 1524mm

Three Panel Frame

Overall: 3188 x 1664mm

Visual: 3048 x 1524mm

Four Panel Frame

Overall: 4204 x 1664mm

Visual: 4064 x 1524mm

Five Panel Frame

Overall: 5220 x 1664mm

Visual: 5080 x 1524mm

Six Panel Frame

Overall: 6236 x 1664mm

Visual: 6096 x 1524mm

For each additional panel, the panel will widen by 1016mm

Number of Panels

Overall Height

Overall Width

Visual Height

Visual Width

Seven Panels 1664 7252 1524 7112

Eight Panels

1664 8268 1524 8128

Nine Panels 1664 9284 1524 9144

Ten Panels 1664 10300 1524 10160

Eleven Panels 1664 11316 1524 11176

Twelve Panels 1664 12332 1524 12192

Thirteen Panels 1664 13348 1524 13208

Fourteen Panels 1664 14364 1524 14224

Fifteen Panels 1664 15380 1524 15240



Parts List

Part Rev Description
Qty

1 0
  Eased Edge Treated Timber 47 x 100mm (4” x 2”)

4

2 0

  Eased Edge Treated Timber 47 x 75mm (3" x 2")

6

3 0

  9mm W.B.P Ply

6

4 0   Red Wood - 5th Grade - Plained All Round - 75 x 25mm 6

5 0

  M12 S/S Threaded Rod, securing Verticals to the wall

8

6 0   M12 S/S Washers 8

7 0   M12 S/S Nuts 8

8 0

  6 x 100mm Wood Screws, securing Horizontal rails

12

9 0

  6 x 75mm Wood Screws, securing Ply to the rails

54

10 0

  6 x 75mm Wood Screws, securing Red Wood moldings

14

11 0

  Ronseal High Performance Wood Filler

1

1

2

3

4

5


	6 Panel - 4 Sheet Frame
	6 Panel - 4 Sheet Frame - With Dims
	Sheets and Views
	6236x1664mm - 6x4Sheet - Post N Paste - 2D with Dims-Model


	6 Panel Frame - Complete
	Sheets and Views
	6236x1664mm - 6x4Sheet - Post N Paste-Model


	6 Panel Frame - With Back Boards
	Sheets and Views
	6236x1664mm - 6x4Sheet - Post N Paste-Model


	6 Panel Frame - With Rails
	Sheets and Views
	6236x1664mm - 6x4Sheet - Post N Paste-Model


	6 Panel Frame - With Uprights
	Sheets and Views
	6236x1664mm - 6x4Sheet - Post N Paste-Model


	Panel Sizes
	Sheets and Views
	Panel Sizes-Layout1



	6 Panel Frame - Parts List

